LRH—KEBRANAT R+ (S5 FERFH)

[=/ER] f64E1827H(+L), 283H((L)

[H5x] M4 FEAFE (BEFEHHRL) 06, SBREFLET 5E
SN EEAFOEZH I ERED S b, BRREFLETLH

[FERK] NEREBSEICHTIZHRE: 13, 4% (1734%/1, 293%%H)
TERAEBEICHTEZRE 72, 1% (1734/2404)

RELGBRVEBERDOF IR

FEB - FHF ZBREWR P9 RER
BEFH 6 543.3 740
FREERE 6 543.3 740
=Mtis T 1 2] 15 478.7 730
=TI T Y A R 15 478.7 730
REFE 36 522.4 960
e 8 606.3 780
REFH 17 466.5 810
EFEFR 11 547.7 960
E3= 4 710.0 850
EFR 3 740.0 850
BEFH 1 620.0 620
BIZH 55 444.2 845
BT R 55 444.2 845
RFE 57 498.3 725
YRR 57 498.3 725
5 173 490.9 960




